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000000000000 F,G(¢)00000O0O000D0D0O0DOODODOOOO
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G(T,p,N)= Nu(T,p,N).
gboboboobobobobobobobobobob
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gboboobodgbooo
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1.

gbooboooboboboob ey OO0b0ODODODODOD
U= NcyT + Nug.
oooooooono
S=NcylnT+ NRIn(V/N) + Nay.

000 SO0000000000 (ae=Nag— NRInN)OOOOOO
ooooo

F = U-TS8=NeyT+ Nug—T{NeyInT + NRIn(V/N) + Nag} (1)
G = U-TS+pV=N(cy + R T+ Nuy —T{Ney InT + NRIn(V/N) 4+ Nag} (2)

2. F,G@®)0D0000000ooooooO:

dF = —SdT —pdV + pudN (3)
dG = —SdT + Vdp+ pdN (4)

0000,FO000O00D0000 (T,V,N)0G(®) 000000000 (T,p,N)OOOOO
000000000000000000000:

F = U—-TS=NcyT+ Nug—T{NeyInT + NRIn(V/N) + Nay} (5)
G = U-TS+pV=N(y+RT+ Nuy—T{NcyInT + NRIn(RT/p) + Nagy}(6)

3. G(T,p,N), NOOOOO,T,p000000000000000000000000 A0

0000000000:
G(T,p,AN) = AG(T,p, N).

OO0 NOOODOOOA=100000000:

OG(T,p,N)

N ON

= G(T,p,N).



p=29TeN) nnppooo0000G = Np.
OO010200000000 GibbsOODOOOOOOODOOODOOOO:
G=N(cy + R)T + Nup —T(Ncy InT + NRIn(RT/p) + Nay)
ubobooo3tuuubouooboooobouodbooobobooboobbg:
w=(cy +R)T +uyp—T(cy InT + RIn(RT/p) + ap)
oooooOG=NpOOOOODOOOOOOD
4. G=NpOOODOOOOOOOD

dG = =SdT + Vdp + pdN = pdN + Ndp

oooood
—SdT +Vdp—dNu=0



